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Sheet | Standard | Flux density weber/m” for magnetizing Specific losses . Watt
steel Sheet force . Ampere — turns per cm per kg
grade | thickness | B10 | B25 | B50 B100 | B30 | pl0/ | pl5/ | pLW
mm 0 50 50 50
Not less than Not over
Ell 1.0 - 150 | 1.62 1.75 1.97 | 5.80 13.4 -
Ell 0.50 - 1.50 | 1.62 1.75 197 { 330 | 7.90 -
El12 0.50 - 149 | 1.61 1.74 196 | 280 | 680 -
E21 0.50 - 1.48 | 1.59 1.73 1.94 | 250 | 6.10 -
E31 (.50 - 146 | 1.57 1.70 1.90 | 2.00 | 4.50 -
E31 0.35 - 146 | 157 1,70 1.90 | 160 | 3.60 -
E41 0.50 130 | 145 | 1.56 1.68 1.88 1 1.60 | 3.60 -
E42 0.50 129 | 144 | 1.55 1.67 1.87 | 140 | 3.20 -
E43 0.50 1.28 | 143 | 154 1.66 187 | 125 | 290 -
E41 0.35 130 | 145 | 1.56 1.68 1.88 | 1.35 3.20 -
E42 0.35 129 | 144 | 1.55 1.67 1.87 | 1.20 | 2.80 -
E43 0.35 1.28 | 143 | 1.54 1.66 1.87 | 1.05 | 2.50 -
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